Lesson 6: Punctuating Complex Clauses

There are several different ways to combine two independent clauses into a longer, coordinated
clause.

One way to conjoin two independent clauses is to use a coordinating conjunction. There is a small
group of these in English (for, and, nor, but, or, yet, and so, which you can remember with the acronym
FANBOYS). When you use one of these, you simply put a comma after the first clause and before the
conjunction.

[l really want to sleep late this morning], and [l really don’t want to go to school].
[My sister wants a dog], but [she also wants a cat].

However, some usage guides will tell you that when the independent clauses are “short,” commas
aren’t necessary. But what’s short enough? It’s not necessarily clear.

Boo ate lunch, but Roo didn’t.
Boo ate lunch but Roo didn’t.

Either of these ways of punctuating is acceptable, but since they each contain two independent clauses
and a conjunction, it’s always going to be considered correctly punctuated to have the comma.

Coordinating conjunctions don’t only conjoin clauses, they conjoin all of the other content categories,
such as nouns (dogs and cats), adjectives (big and tall), adverbs (quickly but sloppily), verbs (running or
skipping). And conjunctions always conjoin two phrases of the same category. Similarly, correlative
conjunctions (like either...or, neither...nor) compare two like categories.
Semicolons too can be used to conjoin independent clauses, but then a conjunctive adverb comes in
between them, not a conjunction. Conjunctive adverbs are words like however, therefore, thus,
consequently, hence, furthermore, indeed, or likewise. Such clause linkers are common in formal
academic English.

Boris attempted to climb the wall; however, he failed.
You can also use a semicolon without a conjunctive adverb.

Boris attempted to climb the wall; he failed.

But you cannot have simply a comma with the coordinating conjunction. That is called a comma splice
or a run-on sentence, and is considered a fairly serious error in most forms of writing.

not ok: Boo ate lunch, Roo did not.

Using the following pairs of simple clauses, combine them in two different ways, using first a semicolon
and a conjunctive adverb and then a comma and a conjunction.



We walked to the store. We bought marshmallows.

It is important to always wear a seatbelt. Seatbelts save lives.

Walking to work is good for the environment. It is good for your health.
My cousins arrived from Missoula. We were excited about their visit.



